Klapptest - Runden 6
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Aufgaben. Sind alle Aufgaben gelost, werden die Ergebnisse
verglichen und die Anzahl der richtigen Aufgaben notiert.
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| 691913 |

|
|
| 738335 |
|
[
| 807923 |
|
[

| 449928 |

I
| 123726 |
|
[
| 802475 |
|
|
| 712915 |
|
[
| 192716 |
|
|
| 307450 |
|
|
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| | |
| 123726 | 123730 | 123700 | 124000 | 120000 | 100000 |

700000 |

| 691913 | 691910 | 691900 | 692000 | 690000 |

800000 |

| 802475 | 802480 | 802500 | 802000 | 800000 |

700000 |

| 712915 | 712920 | 712900 | 713000 | 710000 |

200000 |

| 192716 | 192720 | 192700 | 193000 | 190000 |

300000 |

| 307450 | 307450 | 307500 | 307000 | 310000 |

700000 |

| 738335 | 738340 | 738300 | 738000 | 740000 |

800000 |

| 807923 | 807920 | 807900 | 808000 | 810000 |

Ergebnis: 45 Punkte

| 449928 | 449930 | 449900 | 450000 | 450000 | 400000
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